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1.

I'm delighted that so many of you signed up for beginning re-
corder. This is a non-credit (¥4} #J) course so you can each
move along at your own speed. Some of you may be here be-
cause you love music, but you have been afraid to play an instru-
ment. The recorder is a good instrument to begin on. You play by
blowing on the end of it like you would blow a whistle. Recorders
come in five sizes. Bigger size recorders have different tones out
basic fingering is the same for all sizes. A beginner can learn to

'~read music at the same time you learn to finger the notes. In fact,
you can learn to play simple folk tone quickly. Even though you
are just starting today, your skilll will increase rapidly with a little
practice. You will soon be playing from a rich store of musical
literature. Just let your enthusiasm carry you along. A lot of re-
corded music was played at the height of its popularity (E&T&")
in the 16th, 17th and early 18th century.

1. What does this course offer the students?

A) Playing a musical instrument.

B) Recording orchertra music.

C) Using a recorder.



D) 17th century music.

2. Why is the recorder an ideal instrument for this class?

A) Simple in operation.

B) Easy to learn.

C) Easy to remember.

D) Easy to score.

3. What capabilities will the students develop?

A) Able to play from a rich store of musical literature.

B) Able to read music.

C) Able to use any recorder.

D) Able to record orchestra music.

4. In which way is the recorder like a whistle?

A) Similar in construction.

B) Of the same size.

C) Producing the same sound.

D) .Blowing on the end.

5. At about what time was the recorder most popular?

A) 17th century. B) 18th century.

C) 19th century. D) 20th dentury.

X H, “recorder” B, LR EF "B N FHE; X EPHE
BT T16, 17M18HE LM, FH b, “18HE” B TFHE, W 172"
R EEE,

#i2.

On January 8, 1815, American forces under Andrew jackson
defeated the British in the Battle of New Orleans. The victory
made Jackson a national hero and helped him to be elected presi-
dent in 1828 and again in 1832. '

New Orleans was the last battle of the war of 1812; as a mat-
ter of fact the war had been over for more than two weeks when
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the battle was fought, US. and British representatives meeting in
. Ghent, Belg., signed a treaty on Dec. 24, 1814, but the news didn’t
cross the Atlantic until seven weeks later. Had news of the treaty
arrived before the British attacked, there would never have been
a Battle of New Orleans and Jackson might never been elected
president of the US.. There were those, however, who apparently
were not properly impressed by Jackson’s victory. On March 31,
1815, a judge of the US. District Court of the city of New Orleans
fined Jackson § 1,000 for contempt because his defence of the
city had included a declaration of martial law (=4 . Twenty-
nine years later, on Jan. 8, 1844, The House of Representatives
voted to return the money to Jackson with interest at 6%.
1. The war started in .
A) 1815 B) 1814 C 1812 D) 1844
2. The war actually ended in .
A) 1815 B) 1814 C) . 1812 D) 1844
3. Which is NOT true?
A) In the battle, the British were defeated. .
B) In the Battle of New Orleans, the American forces won
it.
C) The battle was lost because of Jackson.
D) The battle won caused Jackson to be a hero.
XERBFLER LERTFIS144E, B4, I X ERET EF
BISFERAETRN S} HXETBERPELLERT1I814
4”0 B B, “actually” fl“in fact” Sy 5] MR, BHit, 75 i B IR SR
FA1F 35 XM, R ERAMER, R HB S & R AN
PRI, W4 F S5t
#3.
His life falls into three clearly marked periods. First,ﬂthere is
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the period of work in the Philosophic (¥ “%#) School of Plato,
the Academy. at Athens, which covers the 20 years from the age
of 17 to that of 37 and only comes to an end with the death of
Plato. Next, there is the period of his Wanderjahre (18 J#17) —at
Assus, in the south of the Troad; on the island of Lesbos oppo-
site, and at the Macedonian court in Pella—which covers the
dozen years from the age of 37 to that of 49 and ends with the
accession (BLHR) of his pupil Alexander. Finally, there is a second
period of work in Athens—a period of work on his own account
as the head of the Peripatetic School in the Lyceum—which cov-
ers, roughly, another dozen years of his life (335322 B.C.) and
ends with his retirement to Chalice and his death. These periods
are not only stages in the external course of a life; they are also
stages in the internal development of a body of liberal thought.

Aristotle was from first to last an Ionian, an observer of the
facts of nature, a man for whom no problem was too detailed to
whet his curiosity. But the development of his thought probably
would have led him to detailed scientific inquiry if he had been
born an Athenian or a Theban. By 1300 Aristotle was the acknow-
ledged “master of those who know”. For Dante, indeed, he was
the “Philosopher”: his views run through the De Monarchia.'But,
only in the latter part of the 19th: century, with the dévelopient
of biological study, did Aristotle the scientist comeztdbe recog-
nized once more and-only in, the 20th centuty:did 'the develop-
ment of his mind and the growth of his:philosophy! of nature be-
gin to be understood.? T L N F
37. Which of the fo]lowmg is nearest in meamng to “whet” (line
18)?

~A)  sharpen- ~ -7 :B). -excite



C) express D) burn ‘

X B, “whet” X a4 B8 &. (1) sharpen, (2) excite, Jfi3
3. “--- whet his interest.”, i, IEHWERNB”, “A" H—idL LK
FHIA, “C” Fyim FE B 43R T PRI, RIMEFE R RAENL 65T R,
2% HBLX AP B S, N 7E “regnant adj. A: reluctant B: rebellious C:
predominant D: ragtag” ', A, B, DX X al &8 H U P00, £
BRI HC,

— UK, FRHEE KA B.C. DM B R & H25% 5K A 0 fE
EE =R INBLFE—F AR, (B4 A0l 58 MK B L, 4
PREESE = TR B R I M IR — F R0, 78 F — 3 (B0 45 U0 i &
i, HER TR R,

#£ 4 “Both A and B” (2(“Both B and C”) KI5, B8 i 75
AR ICE AFIB” (B “B #1 C”) , MR B A FIE N, #i%“Both
A and B” (8{“Both B and C”); il R BT #E A X, 3 7E “Both A and
B” (30“Both B and C”) Z ShH#E1THERE; 10 SR AEA X bk 4505 i B e,
P — TN, 55— BUAX, ARRLEX X T, ZE R B “D) Al of
the above” B L FF I, BIR B Ik BB K F, SUAB R W& M
B 5 i Y S 1 I, A SR R IR RS, BEE D W R RIAR AN, Btk T
W9~ I50; AR R — 0N, 3k — W, X RhAn B R 4 B A 3

e B A B, S8 BB R 5 S IR 0 T 05,
: besides Fil except M ILERBYI R BT - 2 4, (BfEHEEH,
AN SEBR B CEIAR [, WA, 1R 5 SRl AS [6) 1) 44 6 1) 7T i
TP 1 20 “tear” 7E 3L EE h M ARV, B84 HH B “tear” o 3hid) “ 7 347
{9 4]F 80 9 F 3355 SLAN: “make money” £ 30 E o “BEES”, IR 4
B “make” 2 1 8] B A F 455 AT 41 L LA > — B
EEFEI R T H I B0 JF 3 “The lawyers’ report says that most
cars do not have enough safety devices.” i) 1F #1255 W % 2 [7] iR
& 94 7 “Some lawyers think that most cars need more safety
devices.”, B SR LS i Bl “They say that these safety devices
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should be put into all cars.”, fH{f T A~ £ L “Some lawyers say
that all cars will be equipped with more safety devices sooner or
later.” X Wik #449 24, B % “sooner or later” B & RIIFRST, FrLL %
ARTIRIL M BF EEEHEN TFHRIMEEXLR RRXRE
HROTRT Bl E—RAERBRARLHWEXTREY
“Contracting-out is certainly a very big market now, and the pre-
dictions are that it will grow rapidly over the next few years.” iX
At, i # I % i “Companies who contract out usually grow
rapidly.” B 5 F#R3, B % B Y ¥ 185 “Companies” R X 149 £ iE

“it” AN —3, LN JE 3 A “His diligence means his success.” B, “His
diligence results from his success.” B T3, B lx By HR X
FREE T, MR E A T REIE “result in” 1 “result from” i & Hid
W Z¥ALEER T XERTE, TN RAE TEANRE &
&2, U%%E@Fﬁ%‘#ﬁﬁﬁﬂﬁ?ﬁﬁﬁﬂﬁﬁﬂ?ﬁm M T 3% th
EWRER,
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1 ERCER LR
2. TR E BT AFL,
3 ARYE b T SRR S, R TR G
4 BB F R, IR T 2 ER B R,
FRE R AR E SR HI, A5 A, NSRS B
RS E,
—HRULK, ETHRENBEREBRTR - THEEXEEN B
I, SEREME — T MEMERNER X E LR XEFERRE
MEETRNBEER,
hOKBZH
1. This passage mainly discusses
" A) Shakespeare’s life
B) Shakespeare’s family
C) Shakespeare’s plays
D) Shakespeare’s education
- 2. The main point of the third paragragh is that
A) a robot slave will be as useful as a washing-up
machine
B) housewives will welcome a robot slave, though
some of them will have to get used to it
C) ninety percent of housewives are in favor of own-
ing a robot slave
D) different families will have the robot slave do the
housework at different times



BN 2 |
1. If a nation’s population growth is high, you will find a
large proportion of .
A) married women
B) middle-aged people
C) old people
D) children
2. The longest journey made by birds within a day is
A) about 130 miles
B) about 254 miles
C) about 3050 miles
D) about 4120 miles
3. Children who start speaking late .
A) usually pay close attention to what they hear
B) often take a long time in learning to pronounce
properly h
C) may have problems with their hearing ability
D) probably do not hear enough language spoken

around him
(5] SRR 2 1)
1. The phrase “in the main” in the first paragraph means
A) at most B) not in the least
C) partly D) on the whole

‘2. We understand the phrase “it is agreed” in the third
paragraph means . :
A) it is obvious
B) it is most likely



C) it is generally accepted

D) it has been proved

. The sentence “--- there are no new horizons to ex-

plore and exploit” in the first paragraph means .

A) our world is small

B) our resources are limited

C) our economy is developing too fast

D) our waste is great

. The sentence “a citizen buying a bottle of soda or

beer now pays a deposit against return of the empty

bottle” means .

A) if the user does not return the bottle he loses his
money

B) If the user does not return the bottle he is given
back his money

C) if the user returns the bottle he pays less for his
drink

D) if the user returns the bottle he pays more for his
drink

R Z B
The author suggests in the last paragraph that .

A) humans are not responsible for their unfriendly
meetings with rattlesnakes

B) humans like to provoke rattlesnakes

C) rattlesnakes like to seek fight with humas

D) rattlesnakes will not strike humans unless they
are provoked

WRASEZH

The author is of the opinion that .
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